Reading Assignment 8:  Innate Knowledge II
Required Readings:

1. Locke. Essay Concerning Human Understanding. Book I, Chapter 1, Sections 1-20.

Suggested Reading:  
2. David Hume.  Treatise on Human Nature.  Book I, Part I, Section 1-5.

Questions:
1.  Locke argues that human beings possess no “innate principles.”  To do so, in Chapter 1 of Book I, he criticizes the arguments of Descartes and others who advocate the thesis that humans have innate knowledge.  However, at the outset of the chapter, he claims that there is another method that is “sufficient to convince unprejudiced readers of the falseness of this supposition [of the existence of innate principles.”  What is the method?
2.  What does Locke mean by “universal consent”? Note that Locke uses the phrases “universal consent” and “universal assent” interchangeably.  How does he employ the concept of universal assent to deny the existence of innate ideas?
3.  Explain, in your own words, what Locke means when he claims, “If truths can be imprinted on the understanding without being perceived, I can see no difference there can be between any truths the mind is capable of knowing in respect of their original:  they must all be innate or all adventitious:  in vain shall a man go about to distinguish them.”
4.  Locke distinguishes between particular ideas and general ideas, and similarly, between particular names and general names.  Explain what Locke might mean by these distinctions.  How does Locke think general ideas and the use of general names are learned?
5.  One might argue that facts such as “one plus two is three” and “green is not red” are logical consequences of more basic logical principles.  Hence, if the more basic logical principles are known innately, then one might claim that such are consequences are known innately.  How does Locke refute such a claim?  
